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QUESTION 1

What will happen to the notifier if it is correctly configured and the system on which it is running in a multisystem VCS
cluster fails?

A. The notifier will go offline.

B. The notifier will fail over and run on another system.

C. The notifier is in a parallel service group, it will already be running elsewhere.
D. The notifier will be faulted.

Correct Answer: B

QUESTION 2

An application identified for clustering by the system administrator is hard-coded so that it must be installed in
lusr/local/app.

What are two considerations for clustering the application? (Select two.)

A. The application could be clustered by mounting a file system from the shared storage on /usr/local/app.
B. The application is an inappropriate candidate to be clustered without creating a link to /opt/VRTSvcs.
C. The application could be clustered by creating a new directory under the root directory.

D. The application is an inappropriate candidate to be clustered without rewriting the source code.

E. The application could be clustered by creating a soft link from /usr/local/app to a shared file system.

Correct Answer: AE

QUESTION 3

Given the partial main.cf definition:

group GroupA (

SystemList = { SystemA = 0, SystemB = 1, SystemC = 2, SystemD =4}
AutoStartList = { SystemA, SystemD }

OnlineRetryLimit = 3

OnlineRetryInterval = 120)

GroupA is online on SystemA.

All other systems are up and available.
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Where will GroupA fail over to when SystemA faults?
A. SystemA
B. SystemB
C. SystemC
D. SystemD

Correct Answer: B

QUESTION 4

Which two resource attributes need to be correctly set to prevent an unplanned outage due to an improper configuration
that might cause a fault during the online process of the new resource? (Select two.)

A. AutoStart

B. Critical

C. Enabled

D. AutoDisabled
E. MonitorOnly

Correct Answer: BC

QUESTION 5

To which file system folder does PacketCapture write reconstructed SMTP messages?
A. drop

B. drop_pcap

C. drop_discover

D. drop_ttd

Correct Answer: B
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